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SN SAIE D
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ool TAIE Bl (9] 22
SN - BE . S2A(3) - KIRA - BAS 04l o & o HimE=T]
AR D 20,350,013 20,224,885 125,128

= 1,479,159 1,492,129 A12,970
2 100,000 100,000 0
e 904,679 887,570 17,109
ES 700,000 0 700,000
= 17,166,175 17,745,186 A579,011
SADHE 8,139,711 8,113,221 26,490
= 700,000 0 700,000
2 7,439,711 8,113,221 £673,510
SAIAE ZH 8,058,311 8,031,821 26,490
S 700,000 0 700,000
2 7,358,311 8,081,821 £673,510
2L R 1,088,311 1,081,821 6,40
403 XHAI SIS =01 ® 8,311 1,801 6,490
02 BI|2SOHEHAHE & 2 A I 8,311 1,821 6,490
42X 2HHC2FY)
217 8,310,7002+1A! 8,311 1,821 6,490
RS SH-THRT 2HHTE HETA 3,500,000 4,000,000 500,000
401 AIEBIZ S 0Hb| 3,500,000 4,000,000 500,000
01 Al&HI 3,500,000 4,000,000 A500,000
OZHSSHTHRCTY DALCR HET
At H 3,500,000,00021%14] 3,500,000 4,000,000 500,000
FHe| 2 2RAHE[ANEE2(F21])] & - ZEBA 1,400,000 880,000 520,000
ES 700,000 0 700,000
= 700,000 880,000 £180,000
401 AIEBIZ 20| 1,400,000 880,000 520,000
X 700,000 0 700,000
= 700,000 880,000 180,000
01 Al&t 1,400,000 880,000 520,000
o=yl 2 BHH(NE:ER(ERIR)]
- EFBA ZE 1,400,000,0002%14] 1,400,000 880,000 520,000
EN 700,000 0 700,000
2 700,000 880,000 180,000
SAITHA 242,69 217,69 25,000
HAHT LAY ZF 9,500 74,500 25,000
SHRAADIBE =& 99,500 74,500 25,000
401 AlEZBIZ S CHb| 78,000 53,000 25,000
01 A&l 75,000 50,000 25,000
ommex T8N SX2el(gel S)
Z& 75,000,000 14| 75,000 50,000 25,000
MBI = 2,189,139 2,173,079 16,060
2 1,459,255 1,472,225 A12,970
e 208,012 190,903 17,109
i 521,872 509,951 11,921
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BB MBI O
o9l HASSE FHoHE (ol @)
SA - FH - GR(E) - MRAY - BYS 0 Ao oy o tImE=ET
HASE FHE K& 1,893,719 1,877,659 16,060
= 1,459,255 1,472,225 212,970
< 208,012 190,903 17,109
i 226,452 214,531 11,921
HEEN BAl SEEXA A 0 33,740 A33,740
= 0 16,870 216,870
= 0 5,061 25,061
= 0 11,809 211,809
301 LEtEN S 0 33,740 A33,740
= 0 16,870 216,870
= 0 5,061 A5,061
= 0 11,809 211,809
01 A EEH2HZ2(SLEETHEA) 0 33,740 A33,740
OHAYHN Al ST %3 02l 0 3,740 A33,740
= 0 16,870 216,870
= 0 5,061 25,061
= 0 11,809 211,809
NERR ENHTZ US0IT KA 42,000 0 42,000
= 21,000 0 21,000
= 21,000 0 21,000
301 LEtEN S 42,000 0 42,000
= 21,000 0 21,000
i 21,000 0 21,000
02 ABI2EH S (FNS, NS 42,000 0 42,000
OHERE ZNNS US0IX KA
3,000,000 *14Jt 42,000 0 42,000
= 21,000 0 21,000
i 21,000 0 21,000
FE MNESSEEES B2= AL 7,800 0 7,800
= 3,900 0 3,900
= 1,170 0 1,170
i 2,730 0 2,730
301 LEtENZ 7,800 0 7,800
= 3,900 0 3,900
& 1,170 0 1,170
i 2,730 0 2,730
01 AR BEH2HZ2(SLEETHA) 7,800 0 7,800
O FHZSIHBLE DE2 NAAY
300,000& *26It+ 7,800 0 7,800
= 3,900 0 3,900
& 1,170 0 1,170
i 2,730 0 2,730
MEES(ZAIHE D 77,750 20,172 57,578
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M SAIAHE D
HH: HRES(TAIHED)
SPl: BEXIE (cr9) =9l
SA - BB SRI(SIH) - NISAY - BeS Ol ar ot ol & o HimE=T
RS UNES 57,750 172 57,578
BXiz Bt 57,750 172 57,578
802 Btet=JIEt 57,750 172 57,578
01 2 NEXZBE=S 51,186 5 51,181
Q0223 =H= (| &t L O] Xt
51,180, 150& * 14! 51,181 0 51,181
02 Al - EHIEX=ZEte=g 6,564 167 6,397
O FHZ0f FT L 0|XHe
6,396,800 *14] 6,397 0 6,397
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